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Write an equation. Then solve the problem.

1. The Parkers’ lawn is 10 yards long by 9 yards wide.

They want to build a patio that-is 4 yards by 5 yards.
How many square yards of lawn will the Parkers have
teft when the patio is done?

Equation:

2. Sarah sleeps 10 hours each night. Julio sleeps only

8 hours each night. How much more sieep does Sarah

get in a week than Julio?

Equation:

Complete the Scrambled Multiplication Table below.
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24 UNIT 1 LESSON 6

Show your work.

Equations with Parentheses
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